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(1) fix) = 100e™™
f'(x) =-10e*™
(2) fix) = sin (x* + 1)
f'(x) = 2x cos (x> + 1)
(3) fix) = cos” x
f'(x) = -2 cos x sin x = - sin 2x
(4) f(x) = cos2x - 2 cos x
f'(x) =-2sin 2x + 2 sin x
(5) flx) = log; xx - 12
fix) =log; x + 12 log; (x - 1) - log; 2
f'x)=1xIn3 + 12(x-1) In 3
(6) fix) = 2cot® (mx + 2)
fix) = 2(cot (mx + 2))*
f'(x) = -41 cot (mx + 2) csc’ (mx + 2)
(7) fix) = log 2x
f'(x) = 22x In10 = 1x In10
(8) f) = In (x’ + 2)

f'(x) = 3x2x3 + 2
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(9) fix) = (x2x3 + 2)°
f'(x) =2xx2x3 + 2x2x (x3 + 2) - 3x4(x3 + 2)2
= 2x2x3 + 2 x4x - x4(x3 + 2)2 = 8x3 - 2x6(x3 + 2)3
(10) fix) = x*20 - x
f'X)=x"x-1220-x + 2x 20 - x
=-x2220-x+ 2x 20 - x = 80x - 5x22 20 - x
(11) filx) = sin (2x + 1)ex2
f'(x) = 2ex2 cos (2x + 1) - 2xex2 sin (2x + 1) e2x2
=2cos(2x+1)-2xsin(2x+ 1) ex2
(12) fix) = 3cot x

f'(x) = - (3cot x In 3) csc” x

slasall dasd 2ie b los olyusl JSI gulaodl dsles 22X
(13)y =2 sin 5x - 4 cos 3x , x = 02
dydx = 10 cos 5x + 12 sin 3x
towload] Jio
dydx (x=m2) =-12
y=29bL . lbaecx =12
towload| doles
y-2=-12(x-1n2) - y=-12x+ 61 + 2
14)fx)=x*+2)°,x=-1
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f'(x) = 6x (x* + 2)°

‘ool Jio
f'(-1) =-54
x=-1- y=f(-1) =27
tow ool dlsleo
y-27=-54(x+1) » y=-54x-27
(15)f(lx) =tan 3x , x =04
f'(x) = 3 sec” 3x
towlon]l Jio
f'(md) =6
x=md- y=f(nd) =-1
towload| doles

y+1=6((x-1m4) - y=06x-3n2-1

> lgio 3/3



